Aga Khan University Examination Board
Notes from E-Marking Centre on HSSC-I Principles of Economics Examination May 2018

Introduction:

This document has been produced for the teachers and candidates of the Higher Secondary
School Certificate (HSSC) Part | (Class XI) subject in Principles of Economics (POE). It
contains comments on candidates’ responses to the 2018 HSSC-1 Examination, indicating the
quality of the responses and highlighting their relative strengths and weaknesses.

E-Marking Notes:

This includes overall comments on candidates’ performance on every question and Ssome
specific examples of candidates’ responses which support the mentioned comments. Please
note that the descriptive comments represent an overall perception of the better and weaker
responses as gathered from the e-marking session. However, the candidates’ responses shared
in this document represent some specific example(s) of the mentioned comments.

Teachers and candidates should be aware that examiners may ask questions that address the
Students Learning Outcomes (SLOs) in a manner that require candidates to respond by
integrating knowledge, understanding and application skills they have developed during the
course of study. Candidates are advised to read and comprehend each question carefully
before writing the response to fulfil the demand of the question.

Candidates need to be aware that the marks allocated to the questions are related to the answer
space provided on the examination paper as a guide to the length of the required response. A
longer response will not in itself lead to higher marks. Candidates need to be familiar with the
command words in the SLOs which contain terms commonly used in examination questions.
However, candidates should also be aware that not all questions will start with or contain one
of the command words. Words such as ‘how’, ‘why’ or ‘what’ may also be used.

General comments:

The responses reflected that the candidates lack basic knowledge of graphs and their
applications in economics. Also, candidates were not able to relate what to do in the scenario
or situation given in the questions and hence, performed badly. It was also observed that
candidates did not comprehend the requirement of the questions particularly, the command
words used in the questions which is observant through the irrelevant responses. It was
observed in extended response questions (ERQs) that candidates were unable to make
connections or relate the given information or scenario to the economics phenomena or
concept tested. However, the candidates performed well in the questions related to the
computation and calculations. Most of the candidates scored better marks on such questions.
Questions referring to graphs and hypothetical data were also an area of attention which need
to be improved as much of the candidates were unable to score full marks and have lost marks
either in labelling or interpretations of the given graphs.
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Note: Candidates responses reproduced in this report have not been corrected for
grammar, spelling, format or factual information.

Detailed Comments:

Constructive Response Questions (CRQs)

Question 1:

The law of diminishing marginal utility states that if a person increases consumption of a
product while keeping consumption of other products constant, there is a decline in

the satisfaction level that person derives from consuming each additional unit of that
product.

Discuss any TWO points about practical importance of the law of diminishing marginal
utility with the help of an example from everyday life.

Better responses were the ones where the candidates were able to comprehend and discus the
given situation and answered in light of the context given. In few good responses, the
candidates were able to write examples of the law from everyday life, i.e. eating an apple,
drinking cold drinks.

Example:

A\ exgianes why dewarch (usve Stopes ddwnwand as we Kepd buyging
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prhEa W ¥e et Thesie ooued ke [npcuon®MOO 04 GV mnelucde .

Weaker responses were ones where the candidates were not able to relate the application of
law of diminishing utility to the everyday life. The candidates mostly wrote examples of
necessities such as drinking water and oxygen (fresh air) which was irrelevant or they shared
examples of luxuries goods or giffen goods on which the law is not applicable.

Example:
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e
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Question 2:

The law of supply states that “if other factors remain constant, an increase in price results
an increase in quantity supplied”.

Mention any FOUR factors that should remain constant in the law mentioned above.

Better responses were able to give all four factors that remain constant as per given statement
of law of supply, i.e. no change in cost of production, technology, climate, price substitutes,
natural resources, capital goods, political situation and tax policy.

Example:

15:! Tax ; 1f logs AW dasahey Bimfmd_{.mﬁu%cdﬂ_&ﬂ%

. toopnes Plduane. Yun_ puas 9o twriadiby  witl _charae £ Tngumes,
g kea will ulﬂm‘-_ij_a‘.ss;mdjm.mmﬁ

Weaker responses were not able to write all the four factors. Candidates mostly wrote one or
two relevant factors. Some weaker responses were even not able to write one correct factor as
they tried to comprehend the law of supply in their own words or wrote points that are not
relevant to the factors effecting supply curve.

Example:

(D tose,  oF Supplyex Wypoin  corstank

@_le.LD}’_‘u.t.!pm:tmu rhlnel
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Question 3a:

The given table shows the quantity demanded of a product at different price levels.

Point | Price | 0Pl ed | Elestcltyof Demand | Elasticiy
A 2 40
B 4 30
C 8 10

Calculate the price elasticity of demand at each point (B and C) and on the basis of that
categorise the degree of elasticity of demand as either elastic, inelastic or unit elastic.

Better responses were able to compute elasticity of demand according to the formula and were
able to categorise the degree of elasticity. Some candidates were able to compute but were not
able to categorise the degree of elasticity.

Example:
P e e
A 2 40 — '
B 4 ) -
C 8 10 o bk Sn ehontie '

Culoubate the price elasticity of demeand at each point (12 and ] and on the basis of that
erexnrisa the deoree of elasticicy of demand as eithar elastic, inelastic or unit elastie, (3 helarks)

ko 5 - W] e _— - e T =
AR 8- z e
[ =L o o T, _ o 66

" T

A i, AR 2T T

Weaker responses were not able to compute the elasticity or they computed the elasticity with
reversal fraction i.e. (shifting denominator) which shows that they do not have firm
understanding of the formula to compute degree of elasticity.
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Example:

s Sl
A 2 40 - -
B + 30 b &+ ot e .
C ] _ 8 ) 10 hat KRR BN L .

Calculate the price elasticity of demand at each point (B and C) and on the basis of that
categorise the degree of elasticity of demand as either elastic, inelastic or unit elastic. (3 Marks)

Poewvng @ . Pow e L.
|
b8 L a0 28, a0
- 3 =] v
D 20 . M
e o ‘o %
B = M o K e
L 23 b }JK‘ Ay
Question3b:
Price 4
P
O rd

Q2 Qo Qi Quantity Supplied

If the initial supply curve in the given graph is represented as Qs, then analyse the effect of
the following conditions on movement of the supply curve and complete the table.
(Attempt any THREE conditions).

(Note: The first example has been done for your assistance.)
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No.

Condition

Reason

Movement or shift
of the curve

The government has announced
a subsidy on the production of
the good depicted in the graph.

Subsidies will
decrease the cost
of production so it
becomes cheap for
production.

Supply curve will
move towards
point B from E
because of
increase in
production.

The government has raised the
minimum wage rate by 25%.

The government cuts the import
duty on raw material and
machinery used in the production
of the good depicted in the given
graph.

The company has installed new
machinery with latest technology
which resulted in an increase in
production.

Government invites new
manufacturers in the market to
increase competition and reduce
supremacy of existing
manufacturers.

Better responses comprehended the question very well and analysed critically the given
condition on the graph and interpretatively explained the movement or shift of the curve with
reasoning. This shows that the candidates have not only understood the movement along the
curve but they have also comprehended the reason behind such shift or change. They were

able to connect conceptual understanding with the given graph.
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Example:
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Weaker responses were failed to understand the concept and were not able to analyse the
reason behind the movement of the supply curve of graph. They mostly described the given
conditions in their own words rather than describing the reason or shifting of the curve. Some
candidates were only able to elaborate the movement but did not analyse the reason or cause
for such movement.
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Example:
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Question 4:

Explain the ‘law of increasing return’ along with the schedule and graph from hypothetical

data.

Better responses comprehended the question well and prepared a schedule based on a
hypothetical data along with a graph. The better responses drew the schedule on the basis of
hypothetical data and were able to prove the law on the situation hypothetically assumed.
Although in few of the good responses, the candidates were not able to explain in brief but, the
data and the graphs were accurate which means that they do have the understanding of the law
of increasing returns. However, they were unable to write in brief with reference to a graph

and schedule which drawn hypothetically.
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In most of the weaker responses, the candidates did not understand the concept and wrote
about diminishing marginal utility returns which means that the candidates did not clearly
distinguish the two concepts. In some weaker responses, the candidates explained the law of
increasing returns but were unable to draw the schedule or graph accordingly.

Example:
L..—.L._J._x @L‘ \MSM dassae L 4 b weoooes

W’Q% S WQWM*W

"~.:'~._.,_ \,:.-_‘AL t-!- ¢ M \M&:\r{w .
R a1 CREE WY R, Suidda,
1 ouw I —-on
b 6 o “We e
R __G’_ “We = Geoe
% : e s 3"—‘°... EARTE

Page 9 of 23



Question 5:

Revenue provides the income which a firm needs, to be able to cover its costs of production,
and from which it derives profit.

a. Differentiate between the given types of revenue.

Total Revenue
(TR)

Marginal Revenue
(MR)

Average Revenue
(AR)

b. Elaborate the impact of price on each type of revenue.

Total Revenue
(TR)

Marginal Revenue
(MR)

Average Revenue
(AR)

If Prices are Fixed

If Prices are Variable

Better responses included differentiation between Total Revenue (TR), Marginal Revenue
(MR) and Average Revenue (AR) and mentioned. TR as submission of all the revenue heads
of a business, MR as an excessive value earned by sale of every next item or product.
Moreover, AR is achieved by computing revenue on each product level. Some of the
candidates were able to differentiate TR, MR and AR with the help of examples. However,
only fewer candidates were able to elaborate the impact of TR, MR and AR on prices. This
topic needs to be taken into class with the intension to clear the miss concepts of these
overlapping concepts, so that candidates can distinguish them and can be able to elaborate
these concepts of revenues in different price situations.

Example:

Total Revenue (TR)
L Yk % Pne kokal avdsomt

‘Marginal Revenue (MR) Average Revenue (AR)

1. 1.
;i T % Yhe Tk T Ve pex vt
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O Pl - ookeds
b. Elaborate the impact of price on each type of revenue. (2 Marks)

Total Revenue

Marginal Revenue

Average Revenue

(TR) (MR) (AR)
:[fPric:es L S0 T Wt tematn | ey wsth algo aonds B wdl
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Corshumt
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In weak responses candidates were not able to distinguish between Total Revenue (TR),
Marginal Revenue (MR) and Average Revenue (AR) and how prices have impact on these
revenue accounts. Mostly candidates, who were failed to distinguish between TR, MR and AR
were not able to elaborate the effect of change. Candidates merged the concept of total product
with concept of total revenue. In some weaker responses, candidates were not clear in the
concept of marginal and average revenue and they wrote irreverent points.

Example:
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Question 6:

Explain with the help of an example what is meant by real wage and nominal wage.

Better responses clearly explained the real wage and nominal wage with their examples. The
candidates mostly mentioned that real wage is the amount of money which receives in
exchange of services performed by the labour and on gaining the wage on overtime services
and the real wage is the adjusted wage with reference to the inflation in the economy. In fewer
responses, the candidates mentioned relatively weaker examples which were partially correct.

Example:
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In weaker responses, the candidates were not able to distinguish between nominal and real
wage. The candidate mostly wrote about different types of wages with reference to payment.
This concept needs to be taught and explained to the candidates as by reviewing some
responses, it was apparent that candidates have very week understanding of this topic.

Example:
Reglmlage: Therwages Mmjm%ﬂgﬁwwwww
—E;AMMM ‘re ol waoes
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Question 7:
The following are the statistics of an economy.
S. No. Particulars Amount (million $)
1. Consumption expenditure 450
2. Investment expenditure 210
3. Government expenditure 350
4, Exports 450
5. Imports 325
6. Net factor income from abroad (NFIA) 310
7. Depreciation 75
8. Subsidies 125
9. Indirect taxes 180
Compute GNP (Gross National Product) and NI (National Income) from the given data.
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Better responses correctly computed (GNP) gross national product and national income (NI)
from the given figures by eliminating the unnecessary figures.

Example:

Can P = GP x (Net income b alovoad )
W = C +CarT —+ NFXC.E»-FM'--‘EMFM‘)
— YYD+ VDA LVD+((HS0- 325 D)
eoP = I 3‘-;._
Catral . G0 4 Nebincame fackse bamn alovoa A
— URY &4 3
GNE (st = AHHS
Nokboral Tncsmme = CaNP— Tadirecktaxes bDepreciakion

+ Sulesadlies -
= UYC— 1§D — 1S + (25

= A137%

Weaker responses mostly computed by the submission of the all given figures. In some

responses candidates computed Net National Product (NNP) rather than computing gross
national product (GNP).

Example

Q!NF = &Df— Nekfate inuome Fromabwad
= 1048

NI

4$o+21042 50+ (USO-325)-180+12S
logo

I
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Question 8:
a. Define quantity theory of money.

b. If the available money supply in the economy is $100, price level is $10 and the

volume of transaction is 70, then compute the velocity of money circulation using
quantity theory of money.

Better responses defined quantity theory of money of Irving fisher which says that change in
money supply and price level has direct relationship in an economy. In part b, mostly
candidates applied the formula MV = PT correctly and computed velocity of money.

Example:
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Weaker responses were not able to define quantity theory of money and compute the value of
money correctly. However, few candidates defined the theory but were not able to compute
the correct answer.

Example
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Extended Response Questions (ERQS)
Question 9:

In question 9, part a was about explaining any four key features of Lionel Robbins definition
of economics with reference to a given statement however, in part b, the question was about
writing any four merits and demerits of Sir Alfred Marshal’s definition which was given as
reference to the candidates to build upon. Majority of the candidates attempted option a but
were unable to perform well.

Question 9a:

a.  Professor Lionel C. Robbins (1898-1984) defined Economics as “The science which
studies human behaviour as a relationship between ends and scarce means which
have alternative uses.”

With reference to the given statement, explain FOUR key features of Robbin’s
definition of Economics.

Better responses were able to explain the four key features of Robbins definition of economics
i.e. wants are unlimited, limited means, prioritized the wants on the bases of importance and
means have alternative uses. Most of the candidates wrote in reference to the above
components and elaborate it with some example from everyday life.

Example:
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Weaker responses were unable to comprehend the question and did not write anything about
the means and ends. Instead, they discussed general features of studying economics. Mostly
weaker responses were confused between the key points presented by Alfred Marshall and
Lionel Robbins and wrote a mixed match which gave a merger approach and was not correct
as both of the viewpoints are contradicting and are of different approach for each other of
studying economics.

Example:
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Question 9b:

Sir Alferd Marshall wrote a book “Principles of Economics” in 1878 and defined
Economics in the following words:

“Economics is a study of man's action in the ordinary business of life. It inquires how he
gets his income and how he uses it. It examines that part of individual and social actions
which is mostly, closely connected with the attainment and with the use of material
requisites of well-being. Thus, economics is on one side a study of wealth and on the other
and important side, a part of the study of man”.

With reference to the given definition, mention any FOUR merits and any FOUR demerits
of Marshall’s definition of Economics.
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Better responses were able to explain the four key merits of Alfred Marshall’s definition of
economics i.e. it talks about comprehensively about importance of society and consider an
ordinary man’s welfare, it talks about the unfair distribution of wealth in the society. The
better responses also discussed some of the demerits such as, narrow in nature, ignorance to
the non-material services, concept of welfare.

Example:
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Weaker responses were unable to comprehend the question and did not write anything about
the means and ends rather than they discussed general features of studying economics.

Example:
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Question 10:

In question 10, the part a was about describing the canons of taxation and in continuation to
that section (ii) required an explanation as how these canons are applied in a taxation system.
Part b of question 10’s first section was about drawing a business cycle and second section
was about describing any TWO features of any THREE phases the candidates have drawn in
the earlier section of the question. Majority of the candidates attempted option a and

performed well.

Question 10a:

i. Describe the term ‘canons of taxation’.
ii. Explain any THREE canons of taxation and describe how they govern taxation rules

(effect of having such canon in the tax system).
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Better responses described the term ‘canon of taxation’ and explained three taxation canons
with examples and explaining how these canons are applied in any taxation system. Mostly of
the candidates wrote three out of the four main ‘canon of taxation’ which were presented by
Sir Adam Smith i.e. canon of equality, canon of convenience, canon of certainty and canon of
economy. Furthermore, a few candidates also mentioned the other cannons of modern day
economic system such as cannon of productivity, cannon of elasticity, cannon of simplicity,
cannon of diversity and canon of flexibility.

Example:

Weaker responses were unable to describe the canons. However, in few weaker responses
candidates were able to describe one or two canons only or even in some of the weaker
responses overlapped one into another or mix the concept such as ‘canon of equality’ and
‘canon of certainty’. In few weaker responses candidates described the ‘canon of taxation’
well but were unable to give an example that how such canon can be implemented in a tax
system.
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Example:
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In some responses, candidates had wrongly spelled the word cannon instead of canon. The
word canon is used for principle or standard and the other word is usually used as arsenal
vocabulary for mortar or guns though the marks were not deducted for that during the e-
marking, but candidates are suggested to use the correct vocabulary as this change the context
of concept in economics.

Question 10b:
i.  Draw business cycle by mentioning different phases.

ii.  Discuss any TWO features of any THREE phases of business cycle.

Better responses were able to draw the cycle well with reference to time period and production
(output). Candidates discussed the two features of the business cycle (i.e. prosperity,
recession, depression and boom) with reference to different economic indicators. Candidates
mentioned features such as, in prosperity phase, there is an expansion of output, income
employment, prices and profits, in recession phase, the economic activities slow down, decline
in output, income, employment, prices and profits. Mostly Candidates mentioned that in
depression, the volume of output and trade falls and deflation with contraction of bank credit
occurs. Few candidates also drew comparative analysis between different phases of business
cycle.
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In weaker responses candidates were not able to recognise the business cycle and drew
different diagrams. Some of the candidates drew production possibility frontier graph which
was not required. In some weaker responses, the candidates drew the diagram correctly but
were unable to give two features for the phases they had drawn which shows weaker
understanding of the concept. In few weaker responses the candidates wrongly marked the
phases and most of the candidates replaced recession with depression either in marking in
diagram or in writing features due to which they were unable to score good marks.
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Conclusion:

The distinguishable difference noted among the weaker and stronger responses is the
understanding of the command word and its scope with reference to composing a response.
Moreover, candidates were mostly unaware of exact requirement of the questions so they were
unable to comprehend scope and range of writing a response. In few weaker responses where
they were to asked to build upon or write response to a given scenario or statement but they
were unable to connect it with the given reference.

In question where candidates have to apply a pre-defined formula on a given set of data,
Mostly in weaker responses they were unable to filter the correct figures from the given data,
so this can be improved by practicing such questions in classroom based assessment. Teachers
and candidates should practice a bit more on the graphical representation of the economic
concepts as most of the candidates were unable to perform better on such questions. The
performance on graphical representation based question was comparatively low as compared
to question based on theories and concepts.
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